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3HPELPELQJ � 5LQL�6DULDQWL��6(��0�6L�

3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN�PHQHOLWL� SHQJHPEDQJDQ� NDULU� NDU\DZDQ� SDGD�
'LQDV�36'$�3URYLQVL�6XPDWHUD�%DUDW�GHQJDQ�PHPSHUEDQGLQJNDQ�KDVLO�SDGD� VHWLDS�
LQGLNDWRU�� 3HQHOLWLDQ� LQL� GLODNXNDQ� GL�'LQDV�36'$�3URYLQVL� 6XPDWHUD�%DUDW� GHQJDQ�
PHQJJXQDNDQ� OLPD� LQGLNDWRU� \DLWX� LQGLNDWRU� SHUODNXDQ� \DQJ� DGLO� GDODP� EHUNDULU��
NHSHUGXOLDQ�SDUD�DWDVDQ�ODQJVXQJ��LQIRUPDVL�WHQWDQJ�EHUEDJDL�SHOXDQJ�SURPRVL��DGDQ\D�
PLQDW�XQWXN�GL�SURPRVLNDQ��WLQJNDW�NHSXDVDQ�

3HQHOLWLDQ� LQL�PHQHUDSNDQ� MHQLV�SHQHOLWLDQ�GHVNULSWLI��3HQXOLV�PHQJXPSXONDQ�
GDWD� ODQJVXQJ� GDUL� 'LQDV� 36'$� 3URYLQVL� 6XPDWHUD� %DUDW�� %HUGDVDUNDQ� GDWD� \DQJ�
GLSHUROHK�� SHQHOLWL�PHODNXNDQ� SHQJRODKDQ� VHKLQJJD� DNKLUQ\D� GLSHUROHK� KDVLO� EDKZD�
SHQJHPEDQJDQ� NDULU NDU\DZDQ� SDGD� 'LQDV� 36'$� 3URYLQVL� 6XPDWHUD� %DUDW� GDSDW�
GLNDWHJRULNDQ� EDLN�� %HUGDVDUNDQ� KDVLO� \DQJ� GLSHUROHK� WHUVHEXW� SHQHOLWL� GDSDW�
PHPEHULNDQ� NHVLPSXODQ� WHQWDQJ� SHQJHPEDQJDQ� NDULU NDU\DZDQ� SDGD� 'LQDV� 36'$�
3URYLQVL�6XPDWHUD�%DUDW�

%HUGDVDUNDQ� SHQJRODKDQ GDWD� GLSHUROHK� EDKZD� WLQJNDW� SHQJHPEDQJDQ� NDULU�
NDU\DZDQ�SDGD�'LQDV�36'$�3URYLQVL�6XPDWHUD�%DUDW�SDGD�LQGLNDWRU�SHUODNXDQ�\DQJ�
DGLO� GDODP� EHUNDULU� GLSHUROHK� 7&5� ������� SDGD� LQGLFDWRU� NHSHUGXOLDQ� SDUD� DWDVDQ
GLSHUROHK� 7&5� ���� �� GDQ� LQGLNDWRU� LQIRUPDVL� WHQWDQJ� EHUEDJDL� SHOXDQJ� SURPRVL�
GLSHUROHK�7&5��������3DGD� LQGLFDWRU� DGDQ\D�PLQDW�XQWXN�GL�SURPRVLNDQ�GLSHUROHK�
7&5���������'DQ�LQGLFDWRU�WLQJNDW�NHSXDVDQ�GLSHUROHK�7&5���������
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